ORGHE
BATEE
g i p112-21 %
P E R -
ERELRME SV d 1
FE TR
pEBRRE
REOCHEER - FE "
MAL T £ ¥
LT R R
FHHRE
R R .
FoEmERg
REBIE 8
BRI A B
SERER
Py ¥ g
107 Fo FEd 54
.. o 4 /] fﬁg& PK‘?IJ 7* %— 157
D BRTEI 4110 16
X e sl £ 17-
10 R A 31:24- v
A0 18
1 PEECER R e | Hiaze | BRflE E 19-
Z1 32 20
12 PRECER R S | Hiaze | BRI E 21-
Z2 33:1-11 22
e R L G I ST
13 o 33:12- o
23 33 24
" PR R B | Hiae | BR{E 2 25-
24 34:1-20 26
ks | 0 F gl g or
15 | WAEEET | gy | THAS
25 37 28

ERAEHRE 11

%
£-4

2017.10. 08 E4¢

] R AL 3 e
FETEEN 25 - thd £5 mac
G E xR e 2 RO
a 5 B O S S
(7
Bl ® »onop oA
Tk op & R P %
vy L T 3
ki I LE R
7 i W E o~ Bm K EFE S AR
Z 5 e A T - S
EREF B vy R
BTN «+ ¢+ % % & ®
S ML ETHE0/14)

Fl % A i
Baay _ L.
CEEONN © F = = F

DA s - v s
S HFERER(10/1)

RS B & ERE
i pApAE 0= 81 +
‘?""'-’&Lﬁ]%—? 0=~ 8 4

Sl 15 ¢
15
N 4 4 3 ¢
| FEEAAE 45 | FEP32 A
§ Pty 5 £
9 5L 5 %
SITEE

22
O10/13 ~ 20 ~ 27 % 8 3
FEEteaE 1 10/8 AW 10/20 F Ak

23 24

10/21 %

25

10/22 47+ @ %

SHEHR
L )
1. FAHLFERE A FLAp IR L Lap i REHA Y DS R
SR e T L o B RAAE S RS L IR R Fis o R R 2
oo o2 AR BER D EE IR X E AR T L EER
§ o HERSMEIIA S g Hk -

2. APRB I GEEBYhEL > FAEECELT 2V Tk FHES S FET

o S BRATE S FRE - RIATRE S AP BEA ~ A EAA - F
(F &~ 3 RGEATE A p RS IR EATAT R R o

DDARCE B kb 20 [0/2 % 1 8103 > *FAIE% L HFEBRALE

% | baby T % B #4474 o

A, FEFEW TR 2018 R §EE 0 e RHESLHE

32
. B EHE:TAp(0/15)fpFfed A BB A Rk SR Y
S E RGP E R R AR ARG T Ak
6. #WLEE:R10/26FEEH 5 11/42 )% 118 T LM ABEF L 12
b T HEF R TR TIRAERA B 3 10/20(T )5 e £ E R L E
AP o MEHRERL 2002 5B A00 A HEANT LY -
=3

T BREVHKEARPEECREYH ETTHRE AL AR 80% - &
F80A (3) A7 % (F) 1t iBEHBE: LD HA 80%  FHASHTH
R EPieh - RaN 5 EAE M TEY PR FE B IBAS FE
£ F 100 3P -

8. 10~12* T H:FFERH:10~127 FEFHF 4 G FupF L 20— %>
ALpePRIPFPY  FFREETEpHF P wRE

9. RIFEYRL1TESe F(10-12 7 )Rty e Bidd 2 rn D2
WL I F4Er1Q 1 £F1DE § IO FHEAAF BFHHF TR EL 3
R AT B B e

Ll L A

LFERI10/21(5) Bt TR GG MK EPHL T F 23 fribaktn > 13 3

23 BAE o 3R %4t http @ //goo. gl/69XoPW »

2. 4BWARE 10/28(2 )% T~9 BbaPRERM LM LB LKEME 2T
B EF  ARCEHET 0 A BCT60 A BES B 0 BnE MR 1R - R
B g E AR L
* MR § L
1. AT BARFRE: : 402Ts (10/10)@ 5 B > ke = -

B[l

=y =k

.

~

Sk

w0
%p

o
EN

)




